1. (HAM2HY Ck=Rl M) S8Xt ARHIS| £50 [E FXM& AH2l7F Chaot 20 (H=7F okm € I MS7z2|7t 0) (45%)
=L (km/hr) 15 17 18 19 22 25 33 45 47 48 49 50 52
X&H2[(m) 6 7 7 9 11 12 15 19 19 20 22 22 23
1.1 2|HEMAN HEIHE Bi=02 (@ M & = UCHL @ ME & 5= 8ICh, p-value = ( )
1.2 2 HEYO] (@ |2SIEHL @ |2 SHA| BCh, p-value = ( )
1.3 2| HE2H2| Mutiple R-squared & ? ( )
14 2|HE2HN H=7F 1kmTE IS I Mas A2l ( m) BtE Sttt
2. (MAHY CES3HEM) 20071 28, Hof, 22" dar 28-S JHX|E 742 (25H)
T experience score salary T= experience score salary
1 5 82 26.0 6 10 87 40.0
2 8 90 455 7 2 80 23.5
3 8 87 37.0 8 3 80 24.0
4 12 a0 450 9 6 85 31.0
5 9 85 34.0 0 9] 92 34.0
21 2| HE2HE ? (salary= ( ) + ( )xexperience + ( Yxscore
2.2 2|7 ZHO|N experience®| p-value ? ( )
23 2|7 2o dFEHZ2 7 ( )
25 4= o, HIIES 85HQl ALl AE(salary) HIF K= 2 ( )
25 4= 8, WIS 90™Ql AEIO| 95% AlE|F7E A& (salary) OIFZX= ? ( ~

3. (SEMEA)AAISO it Yedde

15{ O

O CBT, FT, Control M7IX| X|Z2EtHE HE

SILE (Control A&0]| reference) (508)

T Treat Prewt Postwt T= Treat Prewt Postwt
1 Cont 81.0 80.0 6 CBT 75.0 77.0
2 Cont 82.0 81.0 7 FT 73.0 76.0
3 Cont 82.0 87.0 8 FT 80.0 815
4 CBT 73.0 76.0 9 FT 78.0 78.5
5 CBT 82.0 80.0 0 FT 83.0 85.0
3.1 X= 20| 2 Xz210ke| Ko7t JA&=7F 2 p-value = ( ), XI2Zate| 0|7k (UCH (), YCH )

3.2 Dunnett test 21t Control 2} CBT &RQ| X|= 21t XJO[7} U=2t 2 p-value = (
3.3 Dunnett test 21} Control 210t FT &H0| X|& 24} XJO|7F =7t 2 p-value = (
34 Prewt O[T ALEHO| CHSH CBT= Control AEECLE ( ) B2
3.5 prewt BwO|UE AMFHO| LSt FTE Control A&EL} ( ) S o
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4. (MM BHHEM) Turkey.csv

4.1 LDA(Linear Discrimination Analysis)
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4.2 QDA(Quadratic Discrimination Analysis) M8 & 42
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